VCE & PDF https://www.passapply.com/1y0-402.html
2024 Latest passapply 1Y0-402 PDF and VCE dumps Download

PassApply.com

1Y0-4029%As

Citrix XenApp and XenDesktop 7.15 Assessment, Design and
Advanced Configurations

Pass Citrix 1Y0-402 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/1y0-402.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Citrix
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

1Y0-402 PDF Dumps | 1Y0-402 Study Guide | 1Y0-402 Braindumps 1/5


https://www.passapply.com/1y0-402.html
https://www.passapply.com/1y0-402.html
https://www.passapply.com/1y0-402.html

VCE & PDF https://www.passapply.com/1y0-402.html
2024 Latest passapply 1Y0-402 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Scenario: A Citrix Architect needs to implement XenApp and XenDesktop. Based on the assessment and early stages
of the design, the architect has identified the requirements as shown in the Exhibit.

Click the Exhibit button to view the requirements.

Requirement Detail

Number of users 50
Environment Proof of Concept (POC)
Redundancy NOT required

Administrative Team |One IT administrator

Level of Performance |High

Provisioning Services, non-
Iiniaye Manduermenl persislent

Additional Should NOT impact production
considerations infrastructure

Which tier of storage should the architect consider implementing, based on the requirements in the Exhibit?
A. DAS
B. Local
C. SAN
D. NAS

Correct Answer: A

QUESTION 2

Scenario: During an assessment of a Citrix Infrastructure, a Citrix Architect finds that there are four active Sites. Each
Site has one NetScaler SDX pair and two StoreFront servers in a server group to allow access for internal and external
users. Users have to use different URLs when they access resources from different Sites. Single-factor authentication is
used for both internal and external access. NetScaler appliances are placed in the DMZ with the appropriate firewall
ports configured to allow Citrix traffic. Many of the internal users connect using corporate-owned laptops and some
external users also connect using personal devices.

Management is planning to create one more Site and has asked the architect to perform scalability testing and advise
how many NetScaler appliances are needed for the new Site.

What is the primary determining factor that the architect can use to help identify the appropriate NetScaler platform in
this scenario?

A. SSL VPN

B. SSL Throughput
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C. ICA Proxy
D. Ethernet Ports

Correct Answer: B

QUESTION 3
Scenario: A Citrix Architect must complete a XenApp and XenDesktop security assessment. After examining the
network topology for the hypervisor hosts supporting the Virtual Delivery Agent (VDA) machines, the architect finds that

some of the network connections are NOT following leading security practices.

Click the Exhibit button to view a high-level diagram which shows the connectivity between various components.
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Which three of the labeled areas of the diagram represent connections which are NOT following Citrix leading security
practices? (Choose three.)

A .G

B.B

E.F
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F.D
G.C

Correct Answer: DEF

QUESTION 4
Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment.

The table in the Exhibit lists details about the requirements of the current user groups and their Virtual Delivery Agent
(VDA) machine workloads.

Click the Exhibit button to view the table.

User Group 1 Scelability Server Medium 15 6 16 20

User Group 2 | User expernence | Deskiop Heawy 6:1 4 36 1

User Group 3 Scelability Desktop Medium 6:1 2 40

User Group 4 Scelability Server Medium 191 6 or 20
The architect should scale the hardware used to host the VMs for User Group 1 to cores. (Choose the correct

option to complete the sentence.)
A. 32
B. 24
C.16
D. 96
E. 64

Correct Answer: B

QUESTION 5

Scenario: A Citrix Architect needs to create a conceptual architecture for a XenApp and XenDesktop environment, on
behalf of a retail chain. Based on some initial discussions around the firm\\'s business goals and objectives, the architect
has collected the information as shown in the Exhibit.

Click the Exhibit button to view the information.
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Number of users 300

Datacenters One server room in the headquarters building

Available hardware None; firm is in the process of decommissioning old servers
Administrative Team 1 general IT systems administrator

Level of control desired |Low level of control

Additional Minimize the deployment and maintenance time required for the
considerations environment

Which delivery model should the architect recommend?

A. Single-Site in Citrix Cloud, single public cloud resource location
B. Multi-Site, single-zone, multiple public cloud resource locations

C. Multi-Site, single on-premises datacenter

D. Single-Site in Citrix Cloud, single on-premises resource location
E. Single-Site, single-zone, single on-premises datacenter

Correct Answer: C
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